Quiz 2 (units 3-5)

Fill in the blank(s) in each sentence with the appropriate particlé. Where a particle is not needed,

write in an X.
1. 7=7)0 5 ZIT 137 ) LASAS HYEF,
(Hint: There are other things in addition to these two.)
2 DIUALEFL LD FAA YBATD VY| YYD TH
\VF 97, (Hint: No one else is there.)
ERN /ALY N ¥ (O Y\ EF A
RIRTLAA( YWE T,
4. N2 ) ¥ T ( yH ) LD
o TR — b )EATY,
5. =MILETAEL HLA ol DX Y b XA )y
KEI
6. RIRXRTAL TXIFXL( Y TAEY LIl
7. 1=MEILIAIEE vl ed E0KD LI T ) U5 JIEA
( )1 NE L7
8. b7f-LIE /¥R )9 B YA F T,
9. LT FH X ) ) B ( ) LASTA( YL AFT,
10, RIRXAME v YITIZAIT *F LA,
54> 18I1I5 ¢ yFE L/~
1. &< 7=X% LE¥4h,
AZ. 7D BEHAKIT FZRA—-F5Y HYEF( )o

(Hint: This sentence is giving the reason.)

Complete each question by filling in the blank(s) with the appropriate word.

1 IARD AT ) SN E A,
MELIAD BLXA wiEA,

2. 97— XL ) T
T,

3. AFD BH LI yAS Y E T,
INZADNER DIVALFLLX Fo3—bdY HYFT,

4. T—=TND AT Y ALTHY yH ) EF D
Lo HYFT,

5. A%D FAIT BYIDO VrHY yWEF D,
S =) wET,

6. FrXAD 1AL LI ) T D%
14> 29I1I6TT,

7. ¢( )4 Fro¥XLLxIll TAPZE LFLAD,

AIRZALD LFlL,
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8 7=0MILXAIE x0T Y1 W F LA,
{3 TS W F LA,

9. ( YIS TIoXALIT HuFE LA,
301 HpuF Ll
0. 777X A3 YT AT 92 FLED,
AL IO YEHIUIT »al)FlLr,
1. FD 9 ¥ L LA,
Ihhr HEFLIA
( YIS EF LA,

[ »xF L/,

m Choose one of the two words in parentheses to complete the sentence in a way that makes sense in
™ the context.

L 7=7LD JAIT LeLAX [FA5BYEST. WED),
2.\ FTD AT WIE(BYET. Y FHA).
3. 8¢ LRbMTY XLLIT wWEEST D,
WO HEY O FFET. WEFFHA),
4, LEIXE FLER (LFT. AEFHA)D.
WOR L AR (AT LEHA),
5. F+ AL, hEHYELFEEIS TAHE LI,
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